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. Suppose that the population distribution of GPA is not normal.  We cannot conclude about the
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| sampling distribution of the sample mean of GPA derived from repeated random samples of
( size 60 will be normally distributed.
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2. Suppose that the population distribution of the height is normal.  We cannot conclude about
the sampling distribution of the sample mean of height derived from repeated random samples
of size 4 will be normally distributed. )

3. Inthe ANOVA model. the total degrees of freedom is equal to the sample size.

4. In the ANOVA model, the mean square within (MSW) is obtained by dividing the within sum
of squares (SSW) by its degrees of freedom which is N-J-1.
! 5. In the ANOVA model, when there are just 2 groups (i.e., J = 2), the t critical value with v2

1 degrees of freedom is equal to the square of the F critical value with (1, v2) degrees of
| freedom.
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